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QUESTION 1

Which of the following is one of DB2\\'s three required address spaces? 

A. Distributed Data Facility Services 

B. Message Processing Services 

C. Stored Procedure Services 

D. Lock Manager Services 

Correct Answer: D 

 

 

QUESTION 2

Which of the following elements allow different z/OS systems to share PARMLIB definitions while retaining unique
values in those definitions? 

A. System Parameters 

B. System Messages 

C. System Symbols 

D. System Codes 

Correct Answer: C 

 

 

QUESTION 3

Which of the following enables processing of a batch job in a z/OS environment? 

A. UNIX Services 

B. ISPF 

C. TSO 

D. JCL 

Correct Answer: D 
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QUESTION 4

Which of the following is a characteristic of Native TSO? 

A. It provides a full screen editor for updating datasets 

B. It provides a ready prompt to enter commands 

C. It provides a dataset list for editing data sets 

D. It provides a menu to enter commands 

Correct Answer: B 

 

 

QUESTION 5

After signing on to CICS, how does a user invoke a transaction? 

A. By issuing a TSO command 

B. By typing INVOKE CICS 

C. By typing EXEC CICS 

D. By typing a TRANSID 

Correct Answer: D 
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